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PROBABILITY

1. Three fair coins are tossed. The probability

of getting exactly one head is,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_K3GoyYQDrvCf
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Answer:

o Watch Video Solution

2. A bag contains 5 white, 4 black and 6 red
balls. A ball is drawn at random. The

probability that the balls drawn is not white is:


https://dl.doubtnut.com/l/_K3GoyYQDrvCf
https://dl.doubtnut.com/l/_wCRu7kHexxfF
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Answer:

° Watch Video Solution

3 1
3. Given P(A) = 5 and P(B) = T Find the

P(A U B) if A and B are mutually exclusive

events.


https://dl.doubtnut.com/l/_wCRu7kHexxfF
https://dl.doubtnut.com/l/_scR0krdntwL4
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Answer:

° Watch Video Solution

4. A fair die is tossed. Find the probability of

getting a number greater than 2.

| 8 l


https://dl.doubtnut.com/l/_scR0krdntwL4
https://dl.doubtnut.com/l/_WimcC2L86c9W

5. Probability that a leap year selected at

random will contain 53 wednesdays is:

Al
7

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WimcC2L86c9W
https://dl.doubtnut.com/l/_Pig00udG1DHa

6. A card is drawn at random from a pack of 52
cards. Put the probability that a card drawn is

a red card

Answer:

l o Watch Video Solution


https://dl.doubtnut.com/l/_Pig00udG1DHa
https://dl.doubtnut.com/l/_WE3RJLcgOy0Y

7.The probability of getting sum 10 in a single

thrown of two dice is
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Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WE3RJLcgOy0Y
https://dl.doubtnut.com/l/_BBmfo6mKHSeu

8. A card is drawn from a pack of 100 cards
numbered 1 to 100. The probability of drawing

a number which is a square is.

.
ol ot

1

C.
10

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_BBmfo6mKHSeu
https://dl.doubtnut.com/l/_LMR24T3ZJxQQ

9. If A and B are events such that P(A) = 042,

P(B) = 048 and P(A N B) = 0.16, then P(A or B)

is equal to

A.0.2

B. 0.96

C.0.86

D.0.74

Answer:

I o Watch Video Solution


https://dl.doubtnut.com/l/_LMR24T3ZJxQQ
https://dl.doubtnut.com/l/_Np7APBPFntuN

10. Two dice are thrown, the probability that
the sum of the points on two dice will 3 or 5 or

11 is:



https://dl.doubtnut.com/l/_Np7APBPFntuN
https://dl.doubtnut.com/l/_YQQRTTMGE8TC

| ¥ Watch Video Solution |

11. The numer of elements in a sample space,

when a die rolled are:

A.6

B.8

C.5

D. 56

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_YQQRTTMGE8TC
https://dl.doubtnut.com/l/_2LSyulL3DAgu

12. Probability of a sure event is:

A.O

B.1

C.o

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_2LSyulL3DAgu
https://dl.doubtnut.com/l/_jw5YFYtcXoEz
https://dl.doubtnut.com/l/_kj3ChFYeJAHq

13. Probabilityi of an impossible event is:

o Watch Video Solution

14. Six boys and six girls sit in a row randomly.
The probability that the six girls sit together

or the the boys and girls sit alternatly, is

1
332
1
B. o

c 1
132

D. None of these


https://dl.doubtnut.com/l/_kj3ChFYeJAHq
https://dl.doubtnut.com/l/_ONnKKvAGlRlt

Answer:

o Watch Video Solution

15. If A and B are mutually exclusive events

then:

A.P(A) < P(B)
B. P(A) > P(B)
C. P(A) < P(B)

D. None of these


https://dl.doubtnut.com/l/_ONnKKvAGlRlt
https://dl.doubtnut.com/l/_IJDt10gOvbUD

Answer:

o Watch Video Solution

16. A single letter is selected at random from
the word PROBABILITY the probability that it is

a vowel is:

D. None of these


https://dl.doubtnut.com/l/_IJDt10gOvbUD
https://dl.doubtnut.com/l/_O1Jj7govbgQy

Answer:

o Watch Video Solution

17. If P(AUB) = P(ANB) for any two

events A and B then.

B. P(A) > P(B)
C.P(A) < P(B)

D. None of these


https://dl.doubtnut.com/l/_O1Jj7govbgQy
https://dl.doubtnut.com/l/_BzO7z38De0h9

Answer:

o Watch Video Solution

18. Four persons are selected at random out of
3 men, 2 women and 4 children. The
probability that there are exactly 2 children in

the selection is:

A 11
21

10

21

C8
" 21


https://dl.doubtnut.com/l/_BzO7z38De0h9
https://dl.doubtnut.com/l/_04ioIGOfQFsS

D. None of these

Answer:

° Watch Video Solution

19. Seven perons are to be seated in a row. The
probability that two particular persons sit

next to each other is:

W~ |-


https://dl.doubtnut.com/l/_04ioIGOfQFsS
https://dl.doubtnut.com/l/_2MODqios0HLR

D. None of these

Answer:

O Watch Video Solution

20. One card is drawn from a pack of 52 cards.
The probability that it is the card of a king or

ah ace is:


https://dl.doubtnut.com/l/_2MODqios0HLR
https://dl.doubtnut.com/l/_D8DQEO20r9Bf

D. None of these

Answer:

o Watch Video Solution

21. Two dice are thrown together, the
probability that at least one will show its digit

greater than 3 is


https://dl.doubtnut.com/l/_D8DQEO20r9Bf
https://dl.doubtnut.com/l/_OusnaqWNb4iN
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D. None of these

Answer:

o Watch Video Solution

22. Two dice are thrown simultaneously. The

probability of obtainng a total score of 5 is,


https://dl.doubtnut.com/l/_OusnaqWNb4iN
https://dl.doubtnut.com/l/_GPGg6axJM623
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D. None of these

Answer:

° Watch Video Solution

23. A die is rolled then the probability that a

number 1 or 6 may appear is:


https://dl.doubtnut.com/l/_GPGg6axJM623
https://dl.doubtnut.com/l/_i7kz7WUO23uK

1
A.E
2
B.g
1
C.g

D. None of these

Answer:

o Watch Video Solution

24. In a single toss of three coins, the
probability of getting head and tail

alternatively is:


https://dl.doubtnut.com/l/_i7kz7WUO23uK
https://dl.doubtnut.com/l/_i6LS1jkfLkSn

1
A.E
1
B.Z
1
C.g

D. None of these

Answer:

° Watch Video Solution

25. The probability of getting at least one tail

in 4 tosses of a coin is:


https://dl.doubtnut.com/l/_i6LS1jkfLkSn
https://dl.doubtnut.com/l/_NnWQjOVyIVJu

D. None of these

Answer:

o Watch Video Solution

26. The probability of occurrence of an event A

is 0.5 and that of B is 03. If A and B are


https://dl.doubtnut.com/l/_NnWQjOVyIVJu
https://dl.doubtnut.com/l/_ExOL0ksRyZwU

mutually exclusive events, then the probability

of netiher A nor B is:

A.0.2

B.0.3

C.04

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ExOL0ksRyZwU

27. If A and B are two events, the probability

that exactly one of them occurs is given by

A. P(A)+P(B)
B. P(A) + P(B) — P(ANB)
C. P(A) + P(B) — 2P(AN B)

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xRntnwrfpbT3
https://dl.doubtnut.com/l/_4HTSpucX3gJI

28. If P(A)=P(B)=x and

P(ANB) =P(ANB) = 3 then the value

of x is:

>

o
= W= o=

N

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4HTSpucX3gJI
https://dl.doubtnut.com/l/_Wg28qE3uau01

29. 12 tickets are numbered from 1 to 12 one
ticket is drawn at random, then the probability

of the number to be divisible by 2 or 3 is:

3

AT

2

B.
c
12

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Wg28qE3uau01

30. Two cards are drawn at random from a well
shuffied deck of 52 cards. The probability of

getting at least a spade or a king is:

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YhS1vivKdyRy

1. A committee of two persons is selected from
two men and two women. What is the
probability that the committee will have

no man?

o Watch Video Solution

2. A committee of two persons is selected from

two men and two women. What is the


https://dl.doubtnut.com/l/_XwKohuLhxtxz
https://dl.doubtnut.com/l/_9LU3xIVBYjXs

probability that the committee will have

one man?

° Watch Video Solution

3. Three coins are tossed once. Find the
probability of getting

two heads.

° Watch Video Solution



https://dl.doubtnut.com/l/_9LU3xIVBYjXs
https://dl.doubtnut.com/l/_T8JusYBRIX1V

4., Three coins are tossed once. Find the
probability of getting

at least two heads.

o Watch Video Solution

5. A coin is tossed. If the outcome is a head, a
die is thrown. If the die shows up an even
number, the die is thrown again. What is the

sample space for the experiment?

° Watch Video Solution



https://dl.doubtnut.com/l/_IcVM7WVFF8dP
https://dl.doubtnut.com/l/_AJOr9TpLWZBh

6.2 boys and 2 girls are in room X, and 1 boy
and 3 girls in room Y. Specify the sample space
for the experiment in which a room is selected

and then a person.

o Watch Video Solution

7. An experiment consists of tossing a coin and
then throwing it second time if a head occurs.
If a tail occurs on the first toss, then a die is

rolled once. Find the sample space.


https://dl.doubtnut.com/l/_AJOr9TpLWZBh
https://dl.doubtnut.com/l/_WYGhw1LoyHQs
https://dl.doubtnut.com/l/_48I2VZ9eDzCD

° Watch Video Solution

8. A box contains 1 red and 3 identical white
balls. Two balls are drawn at random in
succession (one after the other) without
replacement. Write the sample space for this

experiment.

° Watch Video Solution



https://dl.doubtnut.com/l/_48I2VZ9eDzCD
https://dl.doubtnut.com/l/_5xSzcntxEsZf

9. The numbers 1,23 and 4 are written
separatley on four slips of paper. The slips are
put in a box and mixed throughly. A person
draws two slips from the box, one after the
other without replacement. Describe the

sample space for the experiment.

o Watch Video Solution

10. A coin is tossed twice. If the second toss

results in a head, then a die is rolled. Write the


https://dl.doubtnut.com/l/_HTufcm0FX2We
https://dl.doubtnut.com/l/_gvsxt6HKnav0

sample space of the experiment.

o Watch Video Solution

11. A die is rolled. Let E be the event "die shows
4" and F be the event "die shows even

number". Are E and F mutually exclusive ?

o Watch Video Solution

12. Two dice are thrown. The events A, B, C are

as follows:


https://dl.doubtnut.com/l/_gvsxt6HKnav0
https://dl.doubtnut.com/l/_sauQnqeMSfcb
https://dl.doubtnut.com/l/_rnZHBAQoBUWh

A: getting an even number on the first die.

B : getting an odd number on the first die.

C : getting the sum of the number on the dice
< 5.

Describe the events

(i) A' (ii) not B (iii) A or B (iv) A and B (v) A but

notC(viANB ' NC’" = ¢.

o Watch Video Solution

13. Two dice are thrown. The events AB and C

are as follows:


https://dl.doubtnut.com/l/_rnZHBAQoBUWh
https://dl.doubtnut.com/l/_TX9ornhQHvcf

A= Getting an odd number on the first die.
B= Getting a total of 7 on the two dice.
C="Getting a sum ge 8 on the two dice.
Describe events

not B?

o Watch Video Solution

14. Which of the following is not a probability

of the occurrence of an event?

2

3"

o Watch Video Solution



https://dl.doubtnut.com/l/_TX9ornhQHvcf
https://dl.doubtnut.com/l/_bGAfteG0F1cu

15. Which of the following is not a probability
of the occurrence of an event?

0]

o Watch Video Solution

16. Which of the following is not a probability

of the occurrence of an event?

2
iy

3

o Watch Video Solution



https://dl.doubtnut.com/l/_bGAfteG0F1cu
https://dl.doubtnut.com/l/_WmCmkFyIp9rQ
https://dl.doubtnut.com/l/_IMdjsjrthT6j

17. Which of the following is not a probability

of the occurrence of an event?

3

5

o Watch Video Solution

2
18. If 11 is the probabilit of an event, what is

the probability of the event not A.

° Watch Video Solution



https://dl.doubtnut.com/l/_5yxwFNA3Yhc4
https://dl.doubtnut.com/l/_Xqp7Eu8BkxdZ

19. A letter is chosen at random, from the word
'ASSASSINATION'. Find the probability that
letter is

a vowel

o Watch Video Solution

20. A letter is chosen at random from the word
ASSASSINATION. Find the probability that a

letter is


https://dl.doubtnut.com/l/_pkfhkvzu7bfn
https://dl.doubtnut.com/l/_swjPbhz78t9Y

(i) vowel.

(ii) a consonant.

° Watch Video Solution

21. A coin is tossed twice, what is the
probability that:

one head and one tail occurs?

° Watch Video Solution



https://dl.doubtnut.com/l/_swjPbhz78t9Y
https://dl.doubtnut.com/l/_AYkPRE0NycJB

22. A coin is tossed twice, what is the
probability that:

no head occurs?

o Watch Video Solution

23. A coin is tossed twice, what is the

probability that atleast one tail occurs ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wtmvgeDD8LhN
https://dl.doubtnut.com/l/_liyaQg6zrsDX

24. Three coins are tossed once. Find the
probability of getting

at least two heads.

o Watch Video Solution

25. Three coins are tossed once. Find the
probability of getting

(i) 2 heads

(ii) at least 2 heads

(iii) atmost 2 heads


https://dl.doubtnut.com/l/_1BojMsLELB8m
https://dl.doubtnut.com/l/_kd4APy1YybY4

(iv) no head
(v) no tail
(vi) at most 2 tails.

(vii) exactly two tails

° Watch Video Solution

26. Three coins are tossed. Find the probability

of : exactly 2 tails

o Watch Video Solution



https://dl.doubtnut.com/l/_kd4APy1YybY4
https://dl.doubtnut.com/l/_xrPuDCmFDmid

27. A die is thrown, find the probability of
following events:

A prime number will appear.

o Watch Video Solution

28. A die is thrown, find the probability of

following events:

A number greater than or equal to 3 will

appear.

° Watch Video Solution



https://dl.doubtnut.com/l/_znL7hBxKmHwE
https://dl.doubtnut.com/l/_rO7Hx1LLhKH7

29. A die is thrown, find the probability of
following events:

A number less than or equal to one will

appear.

o Watch Video Solution

30. A die is thrown, find the probability of
following events:

A number more than 6 will appear.

o Watch Video Solution



https://dl.doubtnut.com/l/_rO7Hx1LLhKH7
https://dl.doubtnut.com/l/_Dr5upEaNrotW
https://dl.doubtnut.com/l/_1IYXFivA3ZPN

31. A die is thrown, find the probability of
following events:

A number less than 6 will appear.

o Watch Video Solution

32. A fair coin marked 1 on one face and 6 on
the other and a fair die are both tossed. Find

the probability that sum of numbers that


https://dl.doubtnut.com/l/_1IYXFivA3ZPN
https://dl.doubtnut.com/l/_4xtN9HThGAR4
https://dl.doubtnut.com/l/_R5oEnwhBASzm

turns up is

(1) 3 (i) 12.

° Watch Video Solution

33. A fair coin marked 1 on one face and 6 on
the other and a fair die are both tossed. Find
the probability that sum of numbers that
turns up is

(1) 3 (i) 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_R5oEnwhBASzm
https://dl.doubtnut.com/l/_gbgHDROzNCkW
https://dl.doubtnut.com/l/_gDYFkiJ9vr5C

34. A fair coin with 1 marked on one face and 6
on the other and a fair die are both tossed,
find the probability that the sum of numbers
that turn up is

greater than 5

° Watch Video Solution

35. A fair coin with 1 marked on one face and 6
on the other and a fair die are both tossed,

find the probability that the sum of numbers


https://dl.doubtnut.com/l/_gDYFkiJ9vr5C
https://dl.doubtnut.com/l/_3sHZ0ymYGDf8

that turn up is

less than 6.

° Watch Video Solution

36. A fair coin with 1 marked on one face and 6
on the other and a fair die are both tossed,
find the probability that the sum of numbers
that turn up is

3o0ori2

° Watch Video Solution



https://dl.doubtnut.com/l/_3sHZ0ymYGDf8
https://dl.doubtnut.com/l/_wmSZO6BYDdeD
https://dl.doubtnut.com/l/_fachTxA3D9tY

3 1
37. Given P(A) = 5 and P(B) = = find

P(A or B) and A & B are mutually exclusive

events.

° Watch Video Solution

3 1
38.Given P(A) = 5 and P(B) = g,ﬁnd:

P(neither A nor B) if A and B are mutually

exclusive.

° Watch Video Solution



https://dl.doubtnut.com/l/_fachTxA3D9tY
https://dl.doubtnut.com/l/_qZOIXaXGMxWb
https://dl.doubtnut.com/l/_WEzxFkfP696I

39. A and B are events such that P(A)=0.42,
P(B)=0.48 and P(A or B)=0.16.
Determine

P(not A)

o Watch Video Solution

40. A and B are events such that P(A)=0.42,
P(B)=0.48 and P(A or B)=0.16.
Determine

P(not B)

° Watch Video Solution



https://dl.doubtnut.com/l/_WEzxFkfP696I
https://dl.doubtnut.com/l/_7nF1Gf5DR8Wb

41. A and B are events such that P(A) = 0.42,
P(B) = 0.48 and P(A N B) = 0.16.

Determine

P(A U B)

° Watch Video Solution

42. A and B are events such that P(A)=0.42,
P(B)=0.48 and P(A or B)=0.16.
Determine

P(not B)


https://dl.doubtnut.com/l/_7nF1Gf5DR8Wb
https://dl.doubtnut.com/l/_a4ZyeteBNYUF
https://dl.doubtnut.com/l/_SgslWsrDANI5

° Watch Video Solution

43. A and B are events such that P(A)=0.42,
P(B)=0.48 and P(A or B)=0.16.
Determine

P(not B)

o Watch Video Solution

44. A and B are two events such thatP(A)=0.54,

P(B)=0.69 and P(A N B)=035


https://dl.doubtnut.com/l/_SgslWsrDANI5
https://dl.doubtnut.com/l/_uNp83lNCnIa1
https://dl.doubtnut.com/l/_4AS6IudTfwNB

Find:

P(AUB)

° Watch Video Solution

45. A and B are two events such thatP(A)=0.54,
P(B)=0.69 and P(A N B)=0.35
Find:

P(A'NB’)

o Watch Video Solution



https://dl.doubtnut.com/l/_4AS6IudTfwNB
https://dl.doubtnut.com/l/_FrRV14lLB8Ft

46. A and B are two events such thatP(A)=0.54,
P(B)=0.69 and P(A N B)=0.35
Find:

P(ANB)

° Watch Video Solution

47. A and B are two events such thatP(A)=0.54,
P(B)=0.69 and P(A N B)=0.35
Find:

P(BNA’)

| & I


https://dl.doubtnut.com/l/_FSm3MOlwFc9K
https://dl.doubtnut.com/l/_8HRaAXrmF3gg

| ¥ Watch Video Solution |

48.Find the probability that when a hand of 7
cards is drawn from a well shuffled deck of 52
cards it contains :

(1) all Kings (ii) exactly three Kings (iii) at least

three Kings.

o Watch Video Solution

49. Find the probability that when a hand of 7

cards is drawn from a well shuffled deck of 52


https://dl.doubtnut.com/l/_8HRaAXrmF3gg
https://dl.doubtnut.com/l/_aavjExCS9Zjg
https://dl.doubtnut.com/l/_ZYIJRAIONdAD

cards it contains :
(1) all Kings (i1) exactly three Kings (iii) at least

three Kings.

o Watch Video Solution

50. Find the probability that when a hand of 7
cards is drawn from a well shuffled deck of 52
cards it contains :

(1) all Kings (i1) exactly three Kings (iii) at least

three Kings.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZYIJRAIONdAD
https://dl.doubtnut.com/l/_spVGgjAb6NzJ

51. Findthe probability of getting king card
when a card is drawn frm well shuffled pack 52

cards.

o Watch Video Solution

52. Two cards are drawn simultaneously from a
pack of 52 well shuffled cards. Find the
probability that

both cards are aces.

l o Watch Video Solution


https://dl.doubtnut.com/l/_spVGgjAb6NzJ
https://dl.doubtnut.com/l/_jEXMVWf3GyTf
https://dl.doubtnut.com/l/_VijOeHoDznzH

53. Two cards are drawn simultaneously from a
pack of 52 well shuffled cards. Find the
probability that

one card is of diamond and the other is a

spade.

° Watch Video Solution

54. Two cards are drawn simultaneously from a

pack of 52 well shuffled cards. Find the


https://dl.doubtnut.com/l/_VijOeHoDznzH
https://dl.doubtnut.com/l/_BKDbjxecq8wx
https://dl.doubtnut.com/l/_PAcjgiSGuCSe

probability that

both cards are red.

° Watch Video Solution

55. Two cards are drawn simultaneously from a
pack of 52 well shuffled cards. Find the
probability that

one card is red and one is black.

o Watch Video Solution



https://dl.doubtnut.com/l/_PAcjgiSGuCSe
https://dl.doubtnut.com/l/_kKbQhzSsmDgC

56. In a lottery, there are 35 tickets in all, 10
bearing prize numbers and 25 are blanks. A
lady draws 2 tickets at random. What is the
probability that she will win

one prize?

o Watch Video Solution

57. In a lottery, there are 35 tickets in all, 10
bearing prize numbers and 25 are blanks. A

lady draws 2 tickets at random. What is the


https://dl.doubtnut.com/l/_YVg7DcHviOsK
https://dl.doubtnut.com/l/_dGaSuNb9e3KM

probability that she will win

two prizes?

° Watch Video Solution

58. In a lottery, there are 35 tickets in all, 10
bearing prize numbers and 25 are blanks. A
lady draws 2 tickets at random. What is the
probability that she will win

no prize?

° Watch Video Solution



https://dl.doubtnut.com/l/_dGaSuNb9e3KM
https://dl.doubtnut.com/l/_ya5IAAvgdRy7
https://dl.doubtnut.com/l/_BZgXhVfnpPaH

59.1n a relay race, there are five teams, A, B, C,
D and E.
What is the probability that AB, C finish first,

second and third respectively?

° Watch Video Solution

60. In a relay race, there are five teams, A, B, C,
D and E.
What is the probability that AB and C are first

three to finish (in any order)?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_BZgXhVfnpPaH
https://dl.doubtnut.com/l/_qaPUuowa8gmS

61. Two students Anil and Ashima appeared in
an examination. The probabilities that Anil will
qualify the examination is 0.05 and that
Ashima will qualify the examination is 0.10. The
probabilities that both will qualify the
examination is 0.02. Find the probability that
a) Both Anil and Ashima will not qualify the
examination.

b) Atleast one of them will not qualify the

examination.

| €8


https://dl.doubtnut.com/l/_qaPUuowa8gmS
https://dl.doubtnut.com/l/_jm5U8eerNuYa

| ¥ Watch Video Solution J

62. Two students Anil and Ashima appeared in
an examination. The probability that Anil will
qualify the examination is 0.05 and that
Ashima will qualify the examination is 0.10. The
probability that both will qualify the
examination is 0.02. Find the probability that :
at least one of them will not qualify the

examination.

° Watch Video Solution



https://dl.doubtnut.com/l/_jm5U8eerNuYa
https://dl.doubtnut.com/l/_3t7YkFTrbT4v
https://dl.doubtnut.com/l/_TCRFY60dNa0j

63. Two students Anil and Ashima appeared in
an examination. The probability that Anil will
qualify the examination is 0.05 and that
Ashima will qualify the examination is 0.10. The
probability that both will qualify the
examination is 0.02. Find the probability that :

only one of them will qualify the examination.

O Watch Video Solution

64. The probability that a student will pass the

final examination in both English and Hindi is


https://dl.doubtnut.com/l/_TCRFY60dNa0j
https://dl.doubtnut.com/l/_cekN5JUmRsdb

0.5 and the probability of passing neither is
0.1. if the probability of passing the English
examination is 0.75, what is the probability of

passing the Hindi examination?

° Watch Video Solution

65. An integer is chosen from the first 200
integers. Find the probability that it is divisible

by 6 or 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_cekN5JUmRsdb
https://dl.doubtnut.com/l/_J25uSpA5Sgtg
https://dl.doubtnut.com/l/_MLElCLxJ5Mmc

66. A die is rolled twice. Find the probability
that the sum of the numbers on the dice is

divisible by 3 or 4.

° Watch Video Solution

67. A card is drawn from a well shuffied pack of
52 cards. Find the probability that is it:

a king or an ace.

° Watch Video Solution



https://dl.doubtnut.com/l/_MLElCLxJ5Mmc
https://dl.doubtnut.com/l/_VwsjtQZLmpUO
https://dl.doubtnut.com/l/_Go1HES7E5aFe

68. A card is drawn from a well shuffled pack of
52 cards. Find the probability that is it:

a spade or a club.

° Watch Video Solution

69. A card is drawn from a well shuffled pack of
52 cards. Find the probability that is it:

a king or a red card.

° Watch Video Solution



https://dl.doubtnut.com/l/_Go1HES7E5aFe
https://dl.doubtnut.com/l/_AHslGQ6CjkLY

70. A card is drawn from a well shuffled pack of
52 cards. Find the probability that is it:

neither a heart nor a king.

o Watch Video Solution

71.In a town of 6000 people, 1200 are over 50
years in age and 2000 are females. It is known
that 30% of the females are over 50 years in

age. What is the probability that randomly


https://dl.doubtnut.com/l/_tmWd5Ycg2LF5
https://dl.doubtnut.com/l/_EoHeZrdJxr4T

chosen individual from the town is either

female or over 50 years in age?

° Watch Video Solution



https://dl.doubtnut.com/l/_EoHeZrdJxr4T

